
DEQ20−7N

DEQ20−1A
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logY
Y   0

   1 10

   2 100

log L*  CIELAB lightness
L*

1,0

638,9

YN=3,6 YW=90Yu=18

log(L* u)=1,69, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1a]

application
range

DEQ20−2A
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logY
Y −1

   0 1
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log (L*/L* u) CIELAB lightness
L*  normalized to the
background lightness L* u

L*/L* u

12,779

YN=3,6 YW=90Yu=18

log[(L* u/L* u)]=0, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1b]

application
range

DEQ20−3A
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logY
Y −1

   0 1
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   2 100

log ∆Y  CIE tristimulus value difference ∆Y
∆Y

0,041

82,447

log(dYu)=−0,08, mu=0,66

Yu=18, dYu=0,83, dYu/Yu=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1c]
dY = (3/116)·(Y/Yn)2/3 [2c]
dY = a·(Y/Yn)2/3 [3c]
dY = b·(Y/Yu)2/3 [4c]
a = 0,557 b = 6,516 [5c]

application
range

DEQ20−4A
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10000

logY
Y −1

   0 1

   1 10

   2 100

log(∆Y/∆Yu) CIE tristimulus value difference
∆Y normalized to ∆Yu∆Y/∆Yu

0,049

98,478

YN=3,6 YW=90Yu=18

log[(dYu)/(dYu)]=0, mu=0,66

Yu=18, dYu=0,83, dYu/Yu=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1d]
dY = (3/116)·(Y/Yn)2/3 [2d]
dY = a·(Y/Yn)2/3 [3d]
dY = b·(Y/Yu)2/3 [4d]
a = 0,557 b = 6,516 [5d]

application
range

DEQ20−5A
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logY
Y −2

 −1 0,1

   0 1

   1 10

log (∆Y/Y) CIE  Y sensitivity
Sr=(∆Y/Y)

0,204

0,004

log(dYu/Yu)=−1,33, mu=−0,33

Yu=18, dYu=0,83, dYu/Yu=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1e]
dY/Y = (3/116)·Yn

1/3·Y−1/3 [2e]
dY/Y = c·Y−1/3 [3e]
dY/Y = d·(Y/Yu)−1/3 [4e]
c = 0,120 d = 1,404 [5e]

application
range

DEQ20−6A
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logY
Y −1

   0 1

   1 10

   2 100

log [(∆Y/Y) / (∆Yu/Yu)]  CIE  Y sensitivity
normalized to ∆Yu/YuSr /Sru=(∆Y/Y)/(∆Yu/Yu)

4,501

0,100
YN=3,6 YW=90Yu=18

log[(dYu/Yu)/(dYu/Yu)]=0, mu=−0,33

Yu=18, dYu=0,83, dYu/Yu=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1f]
dY/Y = (3/116)·(Y/Yn)2/3 [2f]
dY/Y = c·Y−1/3 [3f]
dY/Y = d·(Y/Yu)−1/3 [4f]
c = 0,120 d = 1,404 [5f]

application
range

DEQ20−7A
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logY
Y   0

   1 10

   2 100

log (Y/∆Y) CIE Y-based contrast
Cr=(Y/∆Y)

4,8

218,3

YN=3,6 YW=90Yu=18

log[(Yu/dYu) = 1,33, mu=0,33

Yu=18, dYu=0,83, Yu/dYu=21

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1g]
Y/dY = (3/116)·Yn

1/3Y2/3 [2g]
Y/dY = e·(Y/Yn)2/3 [3g]
Y/dY = f ·(Y/Yu)2/3 [4g]
e = 833,048, f = 9743,392 [5g]

application
range

DEQ20−8A
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1000
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10000

logY
Y −1

   0 1

   1 10

   2 100

log [(Y/∆Y) / (Yu/∆Yu)] CIE  Y-based contrast
normalized to Yu/∆YuCr /Cru=(Y/∆Y)/(Yu/∆Yu)

0,222

9,923

YN=3,6 YW=90Yu=18

log[(Yu/dYu)/(Yu/dYu)]=0, mu=0,33

Yu=18, dYu=0,83, Yu/dYu=21

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1h]
Y/dY = (3/116)·Yn

1/3Y2/3 [2h]
Y/dY = e·(Y/Yu)2/3 [3h]
Y/dY = f ·(Y/Yu)2/3 [4h]
e = 833,048 f = 9743,392 [5h]

application
range


